Logical Reasoning — QP SET -1

1) One cannot enter into a Contract with a person who is of unsound mind.
This is to protect the person who is of unsound mind from being exploited
as he may not be in a position to understand the consequences of his
actions and therefore a person of unsound mind would not be liable for
his acts both in civil and criminal law.

From the above facts, which of the following is True?

a) A person of unsound mind will not be liable for the murder of a person
who is of sound mind.

b) A person of unsound mind can enter into a contract and perform it.

c) If a person of unsound mind is killed, there would be no punishment if
it is done by a person of sound mind.

d) A person of unsound minor can incur liabilities and be accountable for
the same.

2) Invitation to Offer means inviting the other person to make an offer.
Which of the following are examples of Invitation to Offer?

a) Prospectus of a College

b) Price Catalogue

c) Goods displayed in a showroom

d) All of These

3) A Specific Offer is made to a particular person only.
In light of the above, which of the following is true about a Particular
Offer?

a) Itis not made to the world at large

b) It has to be accepted by the person to whom the offer is made

c) It has to be communicated to that specific person

d) All of the above



4) Insert the missing number: 9,27,11?,19,57
a) 30
b) 33
c) 35
d) 37

5) In a certain code MIGRANT is written as MGIRNAT. How will SPECIAL be
written?

a) SEPCAIL

b) SPECAIL

c) SPECIAL

d) SEPCILA

6) The average of 5 consecutive even numbers is 30. The largest of these
numbers is:

a) 34

b) 32

c) 30

d) 36

7) In a certain code GSJFOE means FRIEND. What would be the code for
writing BREAD?

a) CSFBE

b) CSBFE

c) ASFBE

d) ASBFE

8) If Astandsfor5, Bfor 6, Cfor 7and so on, then the numbers 17,19,24,5,22

a) MOTOR
b) MOPED
c) MOTAR
d) MUSIC



9) In a certain code CAN is written as 21 and CAR is 25, In the same code,
CAT would be written as

a) 23
b) 25
c) 27
d) 29
10) Complete the Series: USA, T4B, S3C,R2D,
a) P3E
b) Q1E
c) P1E
d) S3E
11) Disease is To Health as Freedom is to:
a) Liberty
b) Pleasure
c) Slavery
d) Plight
12) State which of the following conclusion(s) follow(s) from the

following Statements:

Statements:
) Some Birds can Fly
) Peacock is a Bird

Conclusion:
) Peacock can Fly
) Peacock cannot Fly
[Il)  Peacock can Dance
IV)  Peacock can Run very fast



a) Only | Follows

b) Either | or Il Follows
c) Both | and lll Follows
d) None of them Follows

13) Arrange the words as they might appear in a certain dictionary and
state the correct sequence:

1) Earrings
2) Earnest
3) Errand

4) Encyclopaedia
5) Enclosure

a) 1,3,2,4,5
b) 1,2,3,4,5
c) 2,1,3,54
d) 2,1,5,4,3

14) If 13% June 2020 was a Saturday. What was the day on 13t
June 20197

a) Thursday

b) Friday

c) Saturday

d) Sunday

15) The class prefers Chemistry to Biology, Maths to Physics and
Botany to Microbiology. If the same class prefers Biology to
Microbiology and Physics to Biology, which is the subject least
preferred by the class?

a) Microbiology

b) Biology

c) Physics

d) Maths



16) Pointing to a photograph, the man said “The lady in the
photograph is my nephew’s maternal grandmother.” How is the lady
in the photograph related to the man’s sister who has no other sister?

a) Sister

b) Mother

c) Mother-in-law
d) Daughter-in-law

17) The largest 4-digit number exactly divisible by 77 is:
a) 9240
b) 9625
c) 9932
d) 7777

18) Fill in the missing number: 17,36,74,150, ? ,606
a) 300
b) 302
c) 303
d) 360

19) If selling price of 40 bicycles is equal to the cost price of 50 bicycles,
the loss or gain is:
a) 20 % Gain
b) 25 % Gain
c) 20 % Loss
d) 25 % Loss

20) Study of Tissues is Called as:
a) Virology

b) Cytology

c) Histology

d) Phycology
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